mplicit Dfterendafio v

/_‘ Quick Review 7.3

-1 Find y for the following:

()x4 2xy+y5 28
(b) x*log, y+ xy=4x+8
(c)xzcosy+ysmx 8

© (d) cos xsin y+ xe“7 =18

Find 511 for the follbwing:

(a) 2x2f;? + 9+ x* =28
(b) (2 + y)y? =2x+ 38
(c) ye*+xe¥=y

(d) cos(e”) + log,(sin y) = 28 — xy
Differentiate implicity the following:
(@) 2t~y =2x+y.

(b) x*sin y—ycos x=x*y—4

() xp +xy+y°=5

(d) 22+ y* +3y=xy+4

Differentiate implicity and find the
gradient of the curve at the indicated point.-

a) P =5x2 +4y+4, (3,2)
(b) xy+x+ =7, (1,2)
(€) 2y +x®=32-13, (1, 4)
(d) 2y+py=2x+1, (2,1)

Use implicit differentiation to find the
equation of the tangent line to the curve at
the indicated point. :

(@) P+x2+y=3xy+7, (
(b) 4xy? + A =-98 + 2x%, (
(© yF+7x) =2 (
(d) 72— 42 + 36 = 0, (

Use implicit differentiation to find the
equation of the normal lme at the indicated

“point:

(a) xy+ 2x+y=6, (1,2)
d) Zy-2x+P=1, (2,1)
(€) X+ ¥ +xP =4, (0,2)
(dy 29+ xt =2, (1,1)
(e) 22Xy + 24 =2+, (2,1)
(£) wWx=12+ x/y, (9, 16)
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2P -42 2x cos y+
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5 (a) 13y=4x+22 (c) 20y=17x-7
(b) 2y=5x-11 (d) 7y=8x-18
6 (a) 2y=x+3 (d) y=2x-1
(b) 2y=7x~12 (e) y+3x=7
(c) 2y=x+4 (f) 32y+45x=917




